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1. Introduction
This pCR provides a Solution on EAS discovery in Edge Node sharing scenario.
2. Reason for Change
Deployment case: 

1. The EAS#1 is deployed by the OP B in the OP A and EAS#1 is used for providing service for OP B’s subscriber specifically. 

2. The EAS#3 is deployed by the OP A in the OP A and EAS#3 is used for providing service for OP A’s subscriber specifically.

3. Furthermore, the EAS#1 and EAS#2 both provide same application (e.g. TikTok) with same EAS ID for the subscriber.

4. The Operator B can rent the edge resource from the Operator A for the EAS deployment and alos rent the EES service from the Partner A
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Based on the LS reply from the GSMA, the service continuity should be considered in the edge node sharing case. thus, the T-EAS discovery procedure should be considered. 
•
Q3: When UE further moves into the South Region, SA6 assumes that if the application is also deployed on Operator B’s edge node in the South Region, the UE can be served by the local application in Operator B’s edge node in the South Region. Would GSMA OPG please confirm the SA6 assumption?

GSMA OPG:

Correct. Operator B, through the edge discovery process, will assign to the UC the services provided by the edge node closest to the end user. This could be an Operator B edge node in South Region or a partner X edge node in South Region.

In the edge node sharing case, it is possible that in South Region, where Operator B has edge deployments, it may have edge node sharing agreements with multiple Partners (e.g. Partner X) who also have edge deployments.

3. Proposal

It is proposed to agree the following changes to 3GPP TR 23.700-98 v1.3.0.
* * * First Change * * * *

7.45
Solution #45: EAS discovery in Edge Node sharing scenario   
7.45.1
Architecture enhancements

None.

7.45.2
Solution description

7.45.2.1
General

The following solution corresponds to the key issue#22 on EAS discovery in Edge Node sharing scenario in clause 4.22. The scenario assumption is that the EES service (OP A) can be shared to the Operator B. The Operator B can rent the edge resource from the Operator A for the EAS deployment and also rent the EES service from the Partner A.
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Editor's note:
The scenario assumption in this solution needs to be verified with GSMA before considering this solution in conclusion. 
7.45.2.2
EAS discovery Procedure

In this solution, the EES is responsible to determine the EAS base on the desired ECSP information of the UE and the ECSP information of the EAS. With this solution, the EES can discover and determine the EAS considering the ECSP information of both the UE and the EAS, and thus UE can get edge computing service from the EAS deployed by ECSP serving its UE.

Pre-conditions:
1.
OP A and OP B have a service level agreement to share edge EES services.

2.
EAS deployed by the OP B in OP A.

3.
The EAS register to the EES (OP A) with EAS ECSP ID (e.g. OP B).

4.
EES (OP A) which is deplyed by OP A but shared to OP B can register to ECS (OP B)

Editor's note:
It is FFS whether the EES (OP A) which is deployed by OP A but shared to OP B can register to ECS (OP B) is required or not.

Enhancement on the 3GPP TS 23.558 clause 8.3.3 Service Provisioning and 8.5
EAS discovery
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1.
The EEC send the service provisioning request message to the ECS (OP B), the request message may contain the required EASID information
2.
Unpon receiving the request message, the ECS (OP B) determine the EES (OP A), when the required EAS is avaliable in the OP A
3.
The EEC sends the EAS discovery request to the EES  (OP A) in the OP A which is shared to the Operator B， the request message contains the UE home ECSP (e.g OP B’s information ) information.

4.
Then the EES (OP A) in the OP A determines the EAS considering the ECSP information of both the UE and the EAS, e.g. UE home ECSP, ECSP of the EAS.

7.45.2.X
T-EAS discovery Procedure

In this solution, the T-EES is responsible to determine the T-EAS base on the desired ECSP information of the UE and the ECSP information of the EAS. With this solution, the T-EES can discover and determine the T-EAS considering the ECSP information of both the UE and the EAS, and thus UE can get edge computing service from the T-EAS deployed by ECSP serving its UE.
NOTE: The EEC’s home ECSP ID (identifying OP) information is used to indicate which ECSP (e.g. OP)’s service is subscribed by the EEC.

Pre-conditions:
1.
OP A and OP B have a service level agreement to share edge EES services.

2.
EAS deployed by the OP B in OP A.

3.
The T-EAS register to the T-EES (OP A) with EAS ECSP ID (e.g. OP B).

4.
S-EES (OP A) and T-EES (OP A) which is deplyed by OP A but shared to OP B can register to ECS (OP B)

Enhancement on the 3GPP TS 23.558 clause 8.8.3.3 retrieve T-EES and 8.5 
EAS discovery
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1. The S-EAS send the EAS discovery request message to the S-EES (OP A), the request message may contain the EEC’s home ECSP ID (identifying OP e.g OP B’s information).
2. The S-EES (OP A) perform the Retrieve T-EES procedure to the ECS (OP B)
3.
Unpon receiving the T-EES(OP A) information, the S-EES (OP A) sends the EAS discovery request message to the T-EES (OP A) which is shared to the Operator B, the request messagse contains the EEC’s home ECSP ID (identifying OP e.g OP B’s information)
4.
Then the T-EES (OP A) in the OP A determines the T-EAS considering the ECSP information of both the EEC and the EAS, e.g. EEC’s home ECSP ID (identifying OP e.g OP B’s information), ECSP of the EAS. Then the T-EES (OP A) send the EAS discovery response message to the S-EES(OP A), the resposne message contains the T-EAS (OP B) information.
5.  The S-EES (OP A) in the OP A send the EAS discovery response message to the S-EAS(OP B), the resposne message contains the T-EAS (OP B) information.
7.x.3
Solution evaluation

* * * End of Change * * * *
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